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1 JbiEE BEAEMICL 3B - - 554

3 aFR BEAERIC L 3B - - 337

4 =R BEAERIC L 3B - 144 240

5 FHEE BEAERIC L 3B - 40 74

7 E2ER BEAERIC L 3 3BER - - 79
10 HER BEAEMICL 3 RBER - - 62
11 AE B BEAERAIC L 3 BBMK - 181 131
15 IR IF++ B BB A2 58 128 266
16 =8 I+ B BB A 66 224 297
18 BHE BEAERIC L 3 BBMK - - 92
19 izl I+ B BB A 97 111 99
20 RHE BEAEMAICL 3 RBER - - 344
24 =58 BEAEMICL 3 BBER - - 217
26 REBHT BEAERIC L 3 BB - - 402
27 KB AT BEAERIC L B - - 629
28 FER BEAEMICL 3B - 410 613
30 FERLE BEAEMAICL 3B - - 188
31 SEE IE+t B pBsk A3 744 941 996
32 SRE BEAERIC L 3B - - 432
36 =yl BEAERICL 2 3B - - 50
38 FRE BEARERIC &L 3B - - 52
39 =08 IF+ B BB 103 207 185
40 & 2 BEAERAIC L 3 BB - - 29
41 EEE BEARERIC & 3 BEK - 101 111
45 =y REAERIC &L 3B - - 152
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